BT (4 —— A S5 A °E # AIl'TAC

PC. POC%J%I

Bl &2 BT F& 55
PC 6 01 [J [J-8

e

DORERR QEEOE (Q)5E F 8 @EEARE OF L1145 ©#MENRRE
PC: IRNEBEE = SRR CERBEOR |mEesk  EeTE
=3 4. 0c4mm 'M5. MBX0.8' ®4, ®6 | _ . .
I} | : B . )
| S8 6. o6mm [ P . WE B0 N
o1: PTI/8 ! ‘ R
. 8: ®8mm . o4 60000 o [ 8. PTH S. NiFs04
POC. BIRKER 10. ®10mm 02: PTI/A | 28O0 : - A
12: ©12mm 03: PT3/8 | g4 D: k& ED: RB
04: PT1/2 ! ‘
ERRRE EORE s e E iRn R ER
= 2
ERAENEE 0~10kgf/cm®(0~1.0MPa) ERRH | B 54 56 ﬁ%l;lfg =10 —
B ~750mmHg(10Torr) VI3 ° °
fRESMIEE D 1.56MPa PT1/8 ° ° ° ° °
ERREHE (C) -20~70 PC PT1/4 D o ° D 0
ERRE ERNETPUE PTolS ° ° . °
7 %
PEES [KEB/FRE M5 ® °
PT1/8 D ° D D
POC PT1/4 D D D D °
EmiE PT3/8 D D °
PT1/2 ° °
1. NEMBERRNFM304, BMEMRIDARSIE, .
TRT RIS PIEBEE
2. BB BEBIE, MEATH PC% 5l Fix &8 HE FiR &8 HE
I . 1 |#BB#E0| POM | 4 | ELE | POM
RN BEERE, BERIRMGE 2 | =B $85% | 5 =mM0S| NBR
BmRE; 3 | BERN|AFHH| 6 | A | FE§E04
3. BREOHHAEENEEEBOE,
IR ERERER K.
5EB AR
oD
PC%7%l == POC®5%I
H
] o
i © M5 1%
I
- =
E/ H R
T
BSEESE | oD R L © K #i8H FS(g)
PC4M5-S M5x0.8 3.5 19.5 14 9
PC401-S| 4 PT1/8 | 7.5 195 14 10 6.5
PC402-S PT1/4 | 10 19.5 14 14 12.5 1 WIEESE | oD| R oP | L c K |[#i8H EE(g)
PCEM5-S | M5x0.8 3.5 | 225 | 165 | 12 8 | POCAM5-S M5x0.8 9 | 35 185 14 | 2.5 | 3.5
PC601-S PT1/8 | 75 | 220 | 185 12 7 :
R LRI ! POC401-S | 4 | PT1/8 | 10 | 7.6 | 18 | 14 3 5
PC602-S| 6 PT1/4 | 10 245 | 185 14 14.5
50351 FTa/ 11 555 T 158 = % POC402-S PT1/4 | 14 | 10 | 195 14 3 1.5
~PCe01-5 ] PTi72 14 260 1188 X 0 | POC6M5-S M5x0.8/ 12 | 35 | 215|165 | 25 | 55
5e801—5 PTi/s 75 28 aE T 2E ! POC601-S | 6 | PT1/8 | 12 | 756 | 22.0 | 185 | 4 6
“PC802-S | PT1/4 10 27 185 14 12 POC602-S PT1/4 14 10 22.0 | 18.5 4 11
PC803-S | ° [ PTas | 11 | 235 | 185 17 | 195 . _POCBOI-S PT1/8 | 14 | 7.5 | 265| 18 | 5 9
PC804-S | PT1/2 | 14 27 | 185 | 21 40 ;| _POC802-S | 8 | PT1/4 | 14 | 10 | 25 | 18 | 6 9.5
PC1001-S PT1/8 75 30 21 17 19 ; POC803-S PT3/8 17 11 23.5 18 6 18
PC1002-S PT1/4 10 32.5 21 17 22 POC1001-S PT1/8 17 7.5 30 21 5 15.5
PC1003-s| 0 [ PT3/8 | 11 28 21 17 19 - _POCI1002-S | [ PTI/4 | 17 | 10 | 29 | 21 6 14.5
PC1004-S PT1/2 14 26.5 21 21 33 3 POC1003-S PT3/8 17 11 28 21 8 17.5
PC1201-S PT1/8 | 75 | 325 23 21 35.5 | POC1004-S PT1/2 | 21 | 14 | 265 21 8 | 32.5
PC1202-S| ,, | PT1/4 | 10 35 23 21 37.5 | POC1202-S PT1/4 | 21 | 10 | 345 23 6 30
PC1203-S PT3/8 | 11 30.5 23 21 26.5 | POC1203-S | 12 | PT3/8 | 21 | 11 | 30 | 23 8 23
PC1204-5 PT1/2 | 14 32.5 23 21 38.5 | POC1204-S PT1/2 | 21 | 14 | 32 | 23 8 | 345

P4} 288




BT ——F B HE #EER

AIl'TALC

HE—IRNE
DREKRE @rEaRE OF B ©OHERIR
PHW: FRURIWTRE=38 | PZB: TSERMI0E meRy Eers 000
B0 We
28: X8 xm. me
4. ®4dmm '
6: ®6mm
8. ®8mm 7BE. PTH | S. N304
10: ®10mm
12 D12mMmM [ - oo
01: PT1/8 o4 06
02: PT1/4 '
PYB: YRURM =& 03: PT3/8 ®E13,2®10
i 04: PT1/2
. H:},u
PKD 6-4 01 [] [] -S
y %2)\3 4)(5 \? 7
| | |
DRERIRE @EOE @EEORE @E R GEaRRE ©F B @M ERIE
PKD: BUSIRNAE AR HREE
6: ®6mm 4. ®4mm 01: PT1/8 507
8. ®8mm 6: ®6mm 02: PT1/4 = =5, PTS S: RiFEHE304
10: ®10mm 8: ®8mm 03: PT3/8
ERtFE BOiRR e E R ER
[N 7\@%304’%‘%%%@%\%&@%%;\ _ B 5 B o7 oeﬁ%€m®1o =13 ER | il FEOR
2. EE2BRUNRK, BEREATIERDRR; e . o 5l | RHE | 06-04 ©8-06 ©10-08
3. MBMAEEN, UBBRRENTCETERE; /s @ e e e | e PT1/8 °
4. RIHBEEEEDEIRE, BREEETNLTIRXME; PL PT1/A | ®@ | © | ©  ® | @ PKD | PT1/4 °
5. BMEOZEBIE, MSAHIRMMNBHER, BREMN PT3/8 e o o o PT3/8 ®
SEESBEER. PT1/2 ® o o o
M5 e | o
-] PT1I/8 | @ | @ | @ | @
B iR PLL [ PT1/4 | @ | @ | @ | @ | @
PT3/8 e o o o
EREENFEE 0~10kgf/cm’(0~1.0MPa) PT1/2 F )
R —750mmHg(10Torr) M5 RO
RBMER 1.5MPa PEB PT1/8 | @ | @ | @ | ®
= P PED (PT1/4 | @ | @ | @ | @ | @
@ﬂﬂ@ﬁ@@m) A—20~7o PYB PT3/8 o o o e
SER#ME EEMETPUE PT1/2 ° ° °
PRES RE/ZRE M5 e | o
P PT1/8 | @ | @ | ®
SR 4t PT1/4 e o | o
RIEREEIE PHF | Eras S s
PT1/2 e o [ o
PL% I Fik 2B HE PT1/8 | ® | ® | @
1 ERED POM puw |_PT1/4 e o o
7 | RuE == PT3/8 e e o o
b PT1/2 e o [ o
3 | BEBA THH PT1/8 e | o
4 | EIE | POM P7B PT1/4 e o | o
5 | BM0S NBR PT3/8 [ ] [ ] [ ] [ ]
6 | xm@ BT PT1/2 e o [ o
1 7 | OB | NBR
8 |[EB#RIEIR SUS304
V4 289



¥ BT (4 —— A S A AIl'TAC

wE—RNE

SLERFRE
PLR3 T T ~ PYBR3I DC
3 ' o 2-0P | / 3
3 2-0D ‘ “’;f i
EA i ! ///3
K ; | [ | ! ! | ; ﬁﬂ;
| %, < ‘ i‘i ‘ 3 |
a5 afa | A UL L f A
eie m| M5 R o) immmy
} HRE N | ‘J ©
3 L H S jR §
e : M5#4&
s ‘
T H ©) r =
1 —
R L zR
RUSR\ESE | ©D R oP | L K | EA | EB [#8HEE(g) | HHH®E oD R OoP L | C | K |[0oJ|JA|DC |#igH[E=E(g)
PL4M5-S M5x0.8 9 |35 | 14 | 17 | 15 | 8 3 | PYB4M5-S M5x0.8 9 |3.5355 14 3.2, 13| 10| 9 | 6.5
PL401-S| 4 | PT1/8 | 9 | 75 | 14 | 17 185 10 | 4.5 ! PYB401-S| 4 | PT1/8 | 9 |7.5(39.5/ 14 [3.2| 13| 10| 10 | 85
PL402-S PT1/4 | 9 | 10 | 14 | 17 |22.0] 14 = 11 | PYB402-S PT1/4 | 9 | 10 [42.5 14 |3.2| 13 10| 14 | 10
iﬁ_%’g'?:g MF?Tf/OéB lgg 32 1; 38 ;é:g 180 465 PYB6M5—S MB5x0.8/12.5/ 3.5 |40.5/16.5/ 3.2 |15.5| 12 | 12 | 10.5
PL602-S| 6 | PTI/4 125 10 | 17 20 240 14 i25 | _PYB6OI-S| . | PT1/8 [12.6/7.544.5116.6/3.216.5/ 12| 12 | 13
PL603-S PTa/g 125 11 | 17 | 20 255 17 | 19 . _PYB602-S PT1/4 12.5/ 10 |47.5(16.5 3.2 [15.5| 12 | 14 | 17
PL604-S PT1/2 12,5 14 17 20 | 30.0 21 33 PYB603-S PT3/8 |[12.5/ 11 |49.0/16.5/ 3.2 |15.5| 12 17 23.5
PL801-S PT1/8 15 75 185 23 [205] 10 7 . PYB801-S PT1/8 | 16 | 7.5 50 [18.5/3.2| 17 |14.5] 14 19
PL802-S| o | PT1/4 | 156 | 10 |18.5 23 260 14 | 12 . PYBB02-S| | PT1/4 | 15|10 [52.6/18.5 3.2 17 [14.5 14 | 21
PL803-S PT3/8 | 156 | 11 | 185 23 | 265 17 | 195 | PYB803-S PT3/8 | 15 | 11 | 54 18.5/3.2| 17 |14.5 17 | 26
PL804-S PT1/2 | 16 | 14 | 185 | 23 [31.0] 21 | 33 ! PYB804-S PT1/2 | 15| 14 | 58 [18.5/3.2 | 17 [14.5] 21 | 38
PL1001-S PT1/8 | 18 | 7.5 | 21 255250 17 | 165 | pyB1001-S PT1/8 | 18 | 7.5 |56.5 21 | 4.3 |19.5| 18 | 17 | 26
PL1002-S | PT1/4 | 18 | 10 | 21 [25.5]27.0 17 | 18 ! PYB1002-S PT1/4 | 18| 10 | 59 | 21 |4.3/19.5 18 17 | 28
PL1003-S PT3/8 | 18 | 11 | 21 1255280 17 | 20 pypyooa=s| 'O | PTa/8 |18 | 11 60| 21 43195 18| 17 | 31
PL1004-S PT1/2 | 18 | 14 | 21 | 255|325 21 | 345 | : :
PL1201-9 PTis T 21 75 1 23 288 2681 17 | 18 - PYB1004-S PT1/2 | 18 | 14 | 64 | 21 | 4.3]19.5/ 18 | 21 | 42.5
PL1202-S PT1/4 | 21 | 10 | 23 285 285 17 | 205 | PYB1202-S PT1/4 | 21 | 10 | 66 | 23 | 4.3 | 21 |20.5| 21 | 26.5
PL1203-S 12 PT3/8 21 11 23 | 295 33 17 24 . PYB1203-S| 12 | PT3/8 | 21 | 11|67 | 23 |4.3 | 21 |20.56] 21 49
PL1204-S PT1/2 | 21 | 14 | 23 | 295 34 | 21 | 345 | PYB1204-S PT1/2 | 21 | 14 | 70 | 23 | 4.3 | 21 |20.5] 21 | 53.5
PED 5 34 PZB 5
= ; LR
«<| ¥ i Iéggbl i !
D e s
) O 09_ - TH1 o ; i 3
1L it Al e S 1 DNZE R | [ —
| K o T L2 I ol S
e Y i ~
. | o) K
] : w 2-0J
H | H
K _Ji R ; Ji “ R
BSE\EEE (oD R [oP| K | L [EA[EB | ©J| JB [#igHEE(g) | =
PED4M5-S M5x08 9 |14 35|17 |21 32|65 9 | 65 |
PED401-S| 4 | PT1/8 | 9 |14 75|17 |25 |3.2|65| 10 | 85 | g% oD R |L | A | E| C| K |oP 0J/JB|JC |[8:EBH EE(g)
PED402-S PT1/4 | 9 | 14 | 10 | 17 | 28 |3.2|6.5| 14 | 145 | PZB601-S PT1/8/7.5| 127.547.5 12 | 145
PED6M5-S M5x0.8[12.5[16.5[ 3.5 [ 20 23.5/3.2| 8 | 12 | 10.6 | PZB602-S 6 |PT1/4 10 39.530.550.516.512.53.2| 8 | 16| 14 | 19.5
PED601-S | . | PT1/8 [12.5/16.5/7.5 | 20 [27.56/3.2| 8 | 12 | 13 | PZB603-S PT3/8| 11 32 |52 17 | 255
PED602-S PT1/4 12.5/16.5 10 | 20 |30.5/3.2| 8 | 14 | 17.5 ' PZB8O1-S PT1/8/7.5|  30.553.5 14 | 20
PED603-S PT3/8 12.5/16.5 11 | 20 | 32 |3.2| 8 | 17 | 23.5 | PZB802-S PT1/4] 10 33 | 56 14 | 225
PED801-S PT1/8 | 16 |18.56 7.5 | 23 |30.56/ 4.3 | 9.5 14 | 17.5 | pzB803-S| ° PTa/8 11| 70 Ga sy 5 09 19 43195119 o 0g
PED802-S | | PT1/4 | 165 |18.5/ 10 | 23|33 4.3 9.5 14 | 20 | PZB804-S PT1/2| 14 38.561.5 21 | 405
PED803-S PT3/8 | 15 [18.5 11 | 23 [34.5/4.3 | 9.5 17 | 26.5 | PZB1002-S  |PT1/4 10 36.5 63 17 | 32
PED804-S PT1/2 | 15 [18.5] 14 | 23 [38.5/4.3|9.56| 21 | 38 | PZB1003-S 10 |PT3/8/ 11 52.537.5 64 | 21 18 4.3/ 11|22 17 | 35
PED1001-S PT1/8 | 18 | 21 | 7.5 26.5| 34 | 4.3 | 11 | 17 | 25.5 | PzB1004-S  PT1/2 14 41.5 68 21 | 465
CEDIO-S 1o FTle 15 1 J0 o 40 N 1 ars Mels MU N 00y n a8
- 5/37.5 4. | PZB1204-S © [PT1/2| 14 45| 75 21 | 62
PED1004-S PT1/2 | 18 | 21 | 14 |26.541.5| 4.3 | 11 | 21 | 42.5 |
PED1202-S PT1/4 | 21 | 23 | 10 | 30 | 41 | 4.3 | 13 | 21 | 47
PED1203-S| 12| PT3/8 | 21 | 23 | 11 | 30 | 42 | 4.3 | 13 | 21 | 48,5
PED1204-S PT1/2 | 21 | 23 | 14 | 30 | 45 | 4.3 | 13 | 21 | 54

P4} 290



B A —— A B E KE AIl'TAL
BE—RKE

PLLZ I EA [ | PHWX 3
K : . EA
i b H | !
= T | | 2-K | 1
ola | . /R 3 ;|
eie | 4 P F.T T] a i { 7
™Y J 3 L - s el &S 3
. | B B iR w |
i | O ! | !
O I 8 :
o | @) f
@ _ _ L
‘ o M5#R 4% | : |
w m| -
H —‘V% w
. ol T . .
. R
R
' |
RIER\FFSE | ©D R oP | K L | EA | EB ¥i8H E=(g) EISE\FISE o©D| R (OP| L  C | K |EA | EB | DC #iZH E&(g)
PLL4M5-S M5x0.8/ 9 | 14 | 35| 17 |325| 8 8 | PHW401-S| 4 |PT1/8] 9 |7.5 38| 14 205|145 13 | 11 | 17.5
PLL401-S | 4 | PT1/8 | 9 | 14 | 75| 17 /855 10 | 11.5 | "pHWe01-S PT1/8/12.5/ 7.5 38 |16.5(23.0/ 16 | 13 | 11 | 195
PLL402-S PT1/4 | 9 | 14 1 10 | 17 885 14 | 155 ' "pi\ye02-S| 6 |PT1/4/12.5 10 |43.5/16.5/25.0(17.516.56| 14 | 37.5
PLLEMS-S Mbx08125 17 | 3.5 20 |345] 8 | 95 | PHW603-5 PT3/8/12.5| 11 | 50 [16.5/27.0| 20 [16.5] 19 | 64
PLL601-S | | PT1/8 [12.6] 17 | 7.5 | 20 [37.6] 10 | 12 3 - : ad i :
PLLB02-S PT1/a (125 17 | 10 20 405 14 | 165 | PHW801-S PT1/8| 16 | 7.6 40.5/18.5/126.6/16.6/16.6| 11 | 22.5
PLL603-S PT3/8 | 125 17 1M 20 43 17 215 . PHW802-S s PT1/4] 15 | 10 |43.5/18.5/28.5/18.5/15.5| 14 38
PLL801-S PT1/8 | 156 |185| 7.6 | 23 |435| 12 | 165 | PHW803-S PT3/8/ 15 | 11 | 50 [18.5/29.5/ 20 [16.5] 19 | 65
PLL802-S | 8 | PT1/4 | 15 | 185| 10 | 23 455 14 | 21 | PHW804-S PT1/2| 16 | 14 | 61 [18.5) 32 |24.5| 22 | 24 | 1335
PLL803-S PT3/8 | 16 185 11 | 23 | 48 | 17 | 266 | PHW1002-S PT1/4| 18 | 10 46.5/ 21 | 31 | 20 |18.5| 14 | 44
PLL1001-S PT1/8 | 18 | 21 | 7.5 2551505 15 | 35 | PHW1003-S| 10 PT3/8 18 | 11 | 55 21 |33 | 21 |22 | 19 | 815
PLL1002-S| o | PT1/4 | 18 | 21 | 10 [25.8153.5 | 15 | 378 | plwio04a-S| |PT1/2| 18 | 14 | 61 | 21 |355 25 | 22 | 24 | 1275
PLL1003-5 PIs/6 | 18 | 21 | 11 25515451 17 | 38 . PHW1203-S PT3/8/ 21 | 11 | 55 | 2336 |23 | 22| 19 | 80.5
PLL1004-S PT1/2 | 18 | 21 | 14 [255] 59 | 21 | 44 | il I / :
PLL1202-5 PT1/4 | 21 | 23 10 285 555 15 | 40 - PHW1204-8 PT1/2/ 21 | 14 | 61 | 23 | 38 [26.5| 22 | 24 | 1375
PLL1203-S| 12 | PT3/8 | 21 | 23 | 11 |295| 60 | 17 | 61.6 |
PLL1204-S PT1/2 | 21 | 23 | 14 |[295| 63 | 21 | 525
PHZ 5] £
H
K RB
I ,_Lﬂ,r a1 %}77 o
8 ‘ e
- L ‘
| MR .
BISE\RFSE | oD | R ®P| L | C | K | E |HgH|EE(g | =3k oD RA | RB |OP/LA|LB| C | K | E ®@HEE(9)
PHAME-S |, M5x0.8 9 |35 17 | 14 19 | 8 55 | PHF4M5-S |~ M5x0.8/M5x0.8| 9 [3.5/ 6 |20 |14 | 19| 8 6
PH401-S PT1/8 | 9 | 75| 25 | 14 | 205 11 12 PHF401-S PT1/8/ PT1/8| 9 [7.56| 8 [29.5 14 [20.5] 12 | 12
PH6M5-S M5x0.8 12.5| 3.6 | 17 |16.56|235| 8 6.5 | PHF6M5-S M5x0.8M5x0.8[12.5 3.6 | 6 | 20 |16.5[23.5| 8 7
PH601-S | . | PT1/8 |12.56] 7.5 | 25 [16.5| 23 | 11 13 | _PHF601-S | o [PT1/8]PT1/8[12.67.6 8 [29.5/16.5/ 23 | 12 | 13
PH602-S PT1/4 [12.5| 10 | 28 |16.5| 25 | 14 | 23,5 | PHF602-S PT1/4 PT1/412.6 10 | 11 [ 36 [16.5] 25 | 17 | 28
PH603-S PT3/8 [12.5| 11 | 33 |16.55| 27 | 19 | 46,5 | PHF603-S PT3/8| PT3/812.5 11 | 12 | 40 16.5| 27 | 19 | 41
PH801-S PT1/8 | 16 | 7.6 | 25 | 185|266 11 14 ' PHF801-S PT1/8 PT1/8| 15| 7.56| 8 [29.5/18.6[26.5| 12 | 14
PH802-S | o | PT1/4 | 15 | 10 | 28 [185 /285 14 | 245 | PHF802-S | o [PT1/4|PT1/4| 15|10 | 11|35 18.5[28.5 17 | 28.5
PH803-S PT3/8 | 15 | 11 | 33 |18.5|295| 19 | 466 ' PHF803-S PT3/8| PT3/8 | 15| 11 | 12 | 40 18.5[29.5| 19 | 415
PH804-S PT1/2 | 15 | 14 | 39 |185| 32 | 24 | 82 | PHF804-S PT1/2|PT1/2| 15| 14 [13.6(47.5/18.5/ 32 | 24 | 78
PH1002-S PT1/4 | 18 | 10 | 28 | 21 | 31 | 14 | 26 | PHF1002-S PT1/4|PT1/4 1810 | 11 |35 21 31| 17 | 30
PH1003-S| 10 | PT3/8 | 18 | 11 | 33 | 21 | 33 | 19 | 475 | PHF1003-S |10 PT3/8 PT3/8 18| 11 | 12 | 40 | 21 | 33| 19 | 43
PH1004-S PT1/2 | 18 | 14 | 39 | 21 |355| 24 | 815 | PHF1004-S PT1/2| PT1/2| 18] 14 [13.5[47.5 21 [35.5| 24 | 79.5
PH1203-S| | [ PT3/8 | 21 | 11 [ 33 | 23 | 36 | 19 | 495 | PHF1203-S |  |PT3/8/PT3/8 21| 11|12 40|23 [36| 19 | 45
PH1204-S PT1/2 | 21 | 14 | 39 | 23 | 38 | 24 | 86 | PHF1204-S PT1/2|PT1/2| 21| 14 [13.56[47.5| 23 |38 | 24 | 83
PKD %5l JC
3-0PB ! i HSE\ESH | ODA | ©DB| R L A | oPA| oPB| KA
3-0DB v i h’ i PKD6-401-S | 6 4 |PT1/8| 7.5 | 66.5 | 12.5 9 16.5
! | :
27— ™ s ! PKD8-602-S | 8 6 |PT1/4| 10 | 79 15 | 12.5 | 18.5
H | o 4 | PKD10-803-S| 10 8 |PT3/8| 11 | 915 | 18 15 | 21
R i
- w I = i i BUSR\FF IR KB | ©J  JB | JC | DC | E | #igH ERE(g)
5|3 - 3 PKD6-401-S | 14 | 3.2 8 34 | 10 | 175 | 12 15
S o L 1'H PKD8-602-S | 16.6 | 3.2 | 95 | 40 12 | 21 14 | 255
KA DC/DC L PKD10-803-S| 18.5 | 4.3 11 48 | 145 | 24 17 | 365
A

P4} 291



WEN T F— T B HE

AIl'TAC

HE—IRBUE
PEB% 7l
2-EA 5
2K | o
| | S,
o1 O ! Wi
aHl ki s . |
? [V RPN 3 i
m
“J M5 4%
[a]
L
L
R
BISR\ESE oD R OP L | K |[EA|EB | ®J| JB #i8H ZJ:=E(g)
PEB4M5-S M5x08 9 |365|14 |17 ]21 32|/65| 9 6.5
PEB401-S | 4 | PT1/8 | 9 |75 14 |17 | 25 |[32]6.5 ] 10 8.5
PEB402-S PT1/4 | 9 | 10|14 |17 | 28 32|65 14 | 145
PEB6M5-S M5 x0.8/12.56/ 3.5 [16.5| 20 |23.6/3.2| 8 | 12 | 10.5
PEB601-S | . | PT1/8 |12.5/ 7.5 |16.5 20 [27.5/3.2| 8 | 12 13
PEB602-S PT1/4 [12.5/ 10 [16.5| 20 (30.5/3.2| 8 | 14 | 175
PEB603-S PT3/8 [12.56| 11 [16.5| 20 | 32 |3.2| 8 | 17 | 235
PEB801-S PT1/8 | 16 | 7.5 |18.5| 23 (30.5/ 43|95 14 | 175
PEB802-S | o | PT1/4 [ 15 | 10 185/ 23 [ 33 |43 95| 14 20
PEB803-S PT3/8 | 16 | 11 [18.5| 23 [34.5/4.3[95| 17 | 26.5
PEB804-S PT1/2 | 16 | 14 [18.5| 23 [38.5/4.3[9.5 21 38
PEB1001-S PT1/8 | 18 | 7.5| 21 |26.5/ 34 43| 11 | 17 | 255
PEB1002-S| | PT1/4 | 18 | 10 | 21 [26.5[36.5/4.3 | 11 [ 17 | 275
PEB1003-S PT3/8 | 18 | 11 | 21 |26.5(37.6/4.3 | 11 | 17 30
PEB1004-S PT1/2 | 18 | 14 | 21 |26.5/41.5/ 43| 11 | 21 | 425
PEB1202-S PT1/4 | 21 | 10|23 |30 | 41 [43] 13 21 47
PEB1203-S| 12 | PT3/8 | 21 | 11 | 23 | 30 | 42 |43 |13 | 21 | 485
PEB1204-S PT1/2 | 21 | 14 | 23 |30 | 45 [43] 13 | 21 54

292




X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Other Tools category:
Click to view products by AIRTAC manufacturer:

Other Similar products are found below :

899-2-KT46 CR-0AFL4--332K 568681-1 5800-0090 58061-1 59085 00-8273-RDPP 593033 593072 593564100 593575 593593 010-
0003-0000 011349-000 CRCW08052740FRT1 LUC-012S070DSM LUC-018S070DSP LUC-024S105DSP 599-2021-3-NME 599-J3-2021-
03 CRCW2010331JR02 601-JJ-06 601-SPB 601YSY 602-JJ-03 602SPB 603-JJ-07-FP 603-JJY-04 CRTN1013 CS16 6-1579014-0 6203
6240-1 M43435TY 1SZ 3 FIN B BLK M43435TY 2SZ 3 FIN CBLK M43435TY 5SZ 3FIN CNAT M-5Z M6816 660-29ABT1
662508-1 CVHD-950X-93.333 CW104-01X 671-GP-04-KT39-73207 CW307-01A CW30901A CW6211201A 679793-1 690191-1 690191-
3 690317-2



https://www.xonelec.com/category/tools-supplies/tools/other-tools
https://www.xonelec.com/manufacturer/airtac
https://www.xonelec.com/mpn/marathon/8992kt46
https://www.xonelec.com/mpn/viking/cr0afl4332k
https://www.xonelec.com/mpn/teconnectivity/5686811
https://www.xonelec.com/mpn/coto/58000090
https://www.xonelec.com/mpn/teconnectivity/580611
https://www.xonelec.com/mpn/teconnectivity/59085
https://www.xonelec.com/mpn/gcelectronics/008273rdpp
https://www.xonelec.com/mpn/belfuse/593033
https://www.xonelec.com/mpn/belfuse/593072
https://www.xonelec.com/mpn/belfuse/593564100
https://www.xonelec.com/mpn/belfuse/593575
https://www.xonelec.com/mpn/belfuse/593593
https://www.xonelec.com/mpn/teconnectivity/01000030000
https://www.xonelec.com/mpn/teconnectivity/01000030000
https://www.xonelec.com/mpn/teconnectivity/011349000
https://www.xonelec.com/mpn/vishay/crcw08052740frt1
https://www.xonelec.com/mpn/inventronics/luc012s070dsm
https://www.xonelec.com/mpn/inventronics/luc018s070dsp
https://www.xonelec.com/mpn/inventronics/luc024s105dsp
https://www.xonelec.com/mpn/marathon/59920213nme
https://www.xonelec.com/mpn/marathon/599jj202103
https://www.xonelec.com/mpn/marathon/599jj202103
https://www.xonelec.com/mpn/vishay/crcw2010331jr02
https://www.xonelec.com/mpn/marathon/601jj06
https://www.xonelec.com/mpn/marathon/601spb
https://www.xonelec.com/mpn/marathon/601ysy
https://www.xonelec.com/mpn/marathon/602jj03
https://www.xonelec.com/mpn/marathon/602spb
https://www.xonelec.com/mpn/marathon/603jj07fp
https://www.xonelec.com/mpn/marathon/603jjy04
https://www.xonelec.com/mpn/coto/crtn1013
https://www.xonelec.com/mpn/curtis/cs16
https://www.xonelec.com/mpn/teconnectivity/615790140
https://www.xonelec.com/mpn/coto/6203
https://www.xonelec.com/mpn/coto/62401
https://www.xonelec.com/mpn/breyden/m43435ty1sz3finbblk
https://www.xonelec.com/mpn/breyden/m43435ty2sz3fincblk
https://www.xonelec.com/mpn/breyden/m43435ty5sz3fincnat
https://www.xonelec.com/mpn/triad/m5z
https://www.xonelec.com/mpn/tamura/m6816
https://www.xonelec.com/mpn/wakefield/66029abt1
https://www.xonelec.com/mpn/teconnectivity/6625081
https://www.xonelec.com/mpn/crystek/cvhd950x93333
https://www.xonelec.com/mpn/marathon/cw10401x
https://www.xonelec.com/mpn/marathon/671gp04kt3973207
https://www.xonelec.com/mpn/marathon/cw30701a
https://www.xonelec.com/mpn/marathon/cw30901a
https://www.xonelec.com/mpn/marathon/cw6211201a
https://www.xonelec.com/mpn/teconnectivity/6797931
https://www.xonelec.com/mpn/teconnectivity/6901911
https://www.xonelec.com/mpn/teconnectivity/6901913
https://www.xonelec.com/mpn/teconnectivity/6901913
https://www.xonelec.com/mpn/teconnectivity/6903172

